Snowflower Snowflake © Jane Eborall 2016

Click here

The Snowflower Snowflake measures 4” from tip to tip and is worked in one pass with one
shuttle thread being changed for the final second round.

Materials required: 2 shuttles, number 20 thread (2 colours) to achieve the diameter given,

seed beads.

Skills required: Knowledge of SCMR, split ring.
Note: for those who prefer front side/back side tatting the text in italics and red indicates where
the worker needs to use the second half of the ds first.

Abbreviations

R ring Ch chain
Sh2  shuttle 2 SR split ring
SCMR Self closing mock ring

vsp very small picot SS switch

B bead in place of picot
DNRW do not reverse work

P or - picot Shl shuttle 1
Cl close + join
VSFP very small false picot

Lj join using thread closest to picot

MB move bead along core thread

CTM  continuous thread method

MBBH move bead/beads to back of hand before starting the ring. Number of beads in brackets.

Wind 4 yards CTM on Sh1 and 5 yards on Sh2.

Centre

R1: 1vsp5vsp5vsp1Cl

*R2: 1 + (vsp previous R) 5 vsp 5vsp 1 Cl
Repeat from * 3 times

SR6: 1+ (vspR5)5/ 1+ (vsp R1) 5 CI - continue without cutting

Round 1

SR7: VSFP 4 vsp 4 / VSFP 4 vsp 4 C| RW

Ch: vsp 3vsp 3 RW

R8: 4 + (SR7) 2 vsp 2 CI RW

Ch: 2 RW

R9: 2+ (vsp R8) 2 vsp 4 CI RW

Ch: 3 vsp 3RW

*R10:4 + (R9) 4 + (next R of centre) 4 vsp 4 CI RW

SCMR11: 6 vsp 6 SS
R: 4 vsp 4 vsp 4 vsp 4 CI SS
SCMR11: 6 vsp 6 C| DNRW

Ch: 3 vsp 3RW

R12: 4 + (R10) 2 vsp 2 CI RW

Ch: 2 RW

R13: 2 + (vsp R12) 2 vsp 4 CI RW

Ch: 3 vsp 3RW
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Repeat from * 4 times joining last ring to SR7 and the last chain to vsp on first Ch RW
SR30:6 vsp 6/ 6 vsp 6 Cl
SR31:4 vsp 4 /4 vsp 4 CI SS

Round 2 - Replace Sh1l with Sh3 wound with contrasting colour and 4 yards of thread plus 36
beads on the shuttle .

R32: MBBH (5 beads) 1 vsp 3 B4 BBBMB 4B 3vsp 1CISS

*Ch: 1 + (vsp R32) 5 Lj (vsp SR31) 6 LJ (vsp SR30) 3 Lj (vsp Ch round 2) 6 Lj (vsp next Ch
round 2) 3 Lj (vsp SCMR27) 6 Lj (R on SCMR27) 5 vsp 1 Lj (next vsp R on SCMR27) SS

R33: MBBH (5 beads) 1 + (vsplast Ch) 3 B4 BBBMB 4B 3 vsp1CISS

Repeat from * joining last Ch to vsp on R32. T & C to base R32.

For help or any mistakes found in the pattern please email me.
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